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Note

Bkl
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Public Administration

Paper II

weh 99T
gyautent 11

Time Allowed : 75 Minutes]
: This paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt A/l questions.

LI ~
Td YT I Gredl.

: I YTAUCIehd TRUT USTE (50) SgUdiEl Y 3TRd. Yk WYl | (2) T 3T

In the period of ............ the ‘District’
was formed as a wunit for
administrative purpose.
(A) Robert Clive
(B) Lord Cornwallis
(C) Warren Hastings
(D) Lord Wellesley
Match List I with List II and select
the correct answer from the codes
given below :
List I
(Bodies)
(a) Central Secretariat
(b) Cabinet Secretariat
(00 Planning Commission
(d) Finance Commission
List II
(Related Activities)
(1) Principles Governing Grants-in-
aid to states
(2) Formulation of policies
(3) Co-ordination of activities of
various ministries
(4) Allocation of resources
Codes :
(a) (b) (oo (d
A (2) (1) 4 3
B @ 3) 2 @
< (@) 3) 4 (@
D) @ (1) 2 O

I hERIBd ST
HrftEret ‘ fSegt’ 81 e RUH TR shall
e

(A) U e

(B) i hi-ameig

(C) dr BT

(D) e SR

@w I HI®IC| = 11 Sfezat sfor eI
Higdqd a7 W l"iOiSI :

(ﬂaé)

(a) s FiaaTd
(b) Hfde Ffaae

(o THEAmE m/Em
(d) o smam
11

(Fetaa )

(1) T d*lj,fil"l U
(2) #ror Ay
(3) fafay wemearen w@tn Ty
(4) TEEME 9y
S

(a) (b) (o0 (d
(A (2 (1) 4) 3
B @ 3) 2 @
< (@) 3) 4 @
D) @) (1) 2 O3

[P.T.O.



The present cabinet secretariat has

been established on ...........

(A) 26th Jan. 1950

(B) 15th August, 1947

(C) 5th Sept., 1946

(D) 17th Sept., 1946

As per sixth pay commission, which
of the following is not included in

the categorisation of employees ?

(A) Industrial and non-industrial

(B) Personnel belongs to all Indian

Services

(C) Personnel belongs to Union

Territory

(D) Personnel belongs to local

Government
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(A) 26 M. 1950
(B) 15 3= 1947
(C) 5 ¥<. 1946

D) 17 ¥<. 1946

el A SMATIER, TITeiterdeh

ST FHHIATEAAT TR0 THT IS

e ?

(A) Frenfier enfor fr-sienfires

(B) 3tfaet 9Rdr Fararia et

(C) ShsIMEd TR HHART

(D) e A SHHE




Lal Bahadur Shastri National
Academy of Administration brings

out a quarterly journal known as :

(A) The Indian Journal of Public

Adminsitration
(B) Public Administration Review
(C) Administration and Society

(D) The Administrator

The merit principle of recruitment

was first recommended by :

(A) Northcote-Trevelyan committee
(B) Aitchison Committee

(C) Lee Commission

(D) Tomlin Commission

Which bill is put forth according to
Art. 117 ?

(A) Fiscal Bill
(B) Appropriation Bill
(C) Vote on Account Bill

(D) Money Bill
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(A) T1 S99 WA % Usclls

FASUHRSIH

=

(B) Usciieh 3feHiIee fiegy

(C) feHHIEIH 3fre THmel

(D) < SfeHrExR

FrgeiteTad Frar/ureraw g gerd

(A) AArfepre-Zageia Al
(B) =g+ it
(C) =it |ffat

(D) A i

TTefieusht Hivd fages sTg=e 117
(IR GfaYmMe) 7Ed A ad 2

(A) TSenvg fage
(B) faf=em fags

(C) wereH fagwe
D) &7 TagTs

[P.T.O.



10.

Report placed in Parliament before
discussion on demands of any

ministry is called .........
(A) Economic Survey Report
(B) Estimate Committee Report

(C) Public Accounts Committee
Report

(D) Report of CAG

The concept of zero based bdugeting
did not prove to be effective in the

India, mainly because of :

(A) Lack of infrastructure

(B) Lack of financial resources
(C) Lack of technology

(D) Lack of capacity building

The term “Indicative Planning” was
used by Planning Commission in

annual report of :
(A) 1976-77
(B) 1986-87
(C) 1992-93

(D) 2001-02

8.

10.
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RIS HATAITET THSHHR AT

T HLOITEST He holedl  STEaTArd

(A) oTfdieh Tdeur TgeTe
(B) 3T{HM Hffdt sTgara
(C) &k oiEn affdl sTeard

(D) 7% 9 AEEadaeT=T 3TgaTd

IRATd YR STeieheure HehauHl
TRUTERS f9g 8% Iehall e, I
& SRV AR :

(A) T glawmEn s
(B) eTfeieh wHIe= v
(C) ToAMTET ST

(D) &HATHT =T STHTE

‘raglq,) F—{ql\ﬂrl’ a‘ gdl ............... w

N
[

3P

S AR Sftih Stedldld AYLYHId

A

(A) 1976-77
(B) 1986-87
(C) 1992-93

(D) 2001-02




11.

12.

Assertion (A) and Reason (R) pattern :

Assertion (A) : District Planning
Board plays an important role in

plan formulation.

Reason (R)

information of local resources.

It has proper

Answer the following by using the

codes given below :
Codes

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) 1is the

explanation of (A)

not correct

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Who deals with the proposals
regarding grant of land for public

institutions in state ?
(A) Governor

(B) Chief Minister
(C) Cabinet

(D) Chief Secretary

11.

12.
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faum (A) =1fr %R (R) § 3R

faerm (A) : g faRon fSieer fEeE

Aecerdl YfHehl HEwequl 3T,

~

HRUT (R) : TSierr faem Aea wenfaes
TEYAT A At ST

el Ffgddl amR &% A 3N

ferer .

Tehdich :

(A) Tl (A) T (R) SR 3 o (R)
T (A) ¥ AN TR ST

(B) Tl (A) 9 (R) SR 378 R (R)
T (A) 9 Irg TR0 R

(C) (A) =R 3T, TU1 (R) TH 3R
(D) (A) T 3%, 99 (R) TR TR

TSI FTesTTeh HEHee YEHIauas
&I 0 B ?

(A) TSIUrA
(B) H&ATH
(C) HiHews

(D) q=a wfua

[P.T.O.



13.

14.

15.

Which of the following is not a tool
of executive control ?

(A) Political Control

(B) Administrative Control
(C) Elections

(D) Professional Ethics

According to .......... the collector is
the District Development Officer.

(A) The Rajasthan Panchayat
Samiti and Zila Parishad Act,

1959
(B) Tripura Municipal Act, 1994
(C) The Zila Parishad and

Panchyat Samiti Act, 1961

Bombay Village Panchayat Act,
1958

Assertion (A) and Reason (R) pattern :

(D)

Assertion (A) : Parliament control
over delegated legislation is weak.

Reason (R) : Legislatures are
innocent of legal skill.

Answer the following by using the
codes given below :

Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

()
(D)

13.

14.

15.
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TTATCTdeh ShIU ShTFiehT IS0 |1eE
e ?

(A) TSteRia e

(B) W& &=

(C) THaEuERt
(D) AT Fifae

TOR SRl T foreat fasm

AfRil 31gara.
(A) TSI Y= 9idt o fSieer aftoe
HIST, 1959

(B) YU HEMRUIcishl e, 1994

(C) TS aRteg ofor d=maa wfdt
hrEal, 1961

(D) STl T Y=Ed SEEl, 1958

faam (A) suftr &R (A) § TR

faam (A) : ved faumedia qud™

e qew SR,

ST (R) : T SReaemey wrcHes

FAMA= 3T

i

el Higddl AR Hed A M

feter -

(A) B (A) 9 (R) SR 318 o (R)
T (A) T I TSI ST

(B) Tl (A) @ (R) SR 218 W (R)
T (A) 9 I TR0 AR

(C) (A) SR 3T, 90 (R) I 3T

(D) (A) I 3 T (R) TR 3T




16.

17.

18.

According to whom “To understand
the truth there is no alternative to

scientific method.”
(A) T.H. Green
(B) Karl Peers
(C) J.W. Best

(D) Chester Barnard

Which of the following is the type

of Social Research ?

(A) Quantitative and qualitative

research
(B) Laboratory Research
(C) Physical Research
(D) Biological Research

In research sample units need not

(A) Systematic
(B) Subjective
(C) Identifiable

(D) Independent
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16. HIUM=AT 44 ¢ T SRl I8! oI eh

17.

TSl e o= FivaE I T
:"ﬁ.”

(A) A= TH
(B) =l oo
(C) ST, o
(D) <X A

ATkl IO |TATTSIR NN

YR 38 ?

(A) TEATH® T T[UcHeh  |eNeH
(B) WAMRTes&id Hened

(C) +iifder weied

(D) SToRTSE TeneH

[P.T.O.



19.

20.

Who developed the chi-square test

in 1900 ?

(A) Max Weber

(B) Karl Pearson

(C) Ronald Den

(D) F.W. Max

The study of naturally occurring set

of events of a situation is a type of

research :

(A) Experimental

(B) Survey

(C) Field

(D) Analytical

19.

20.
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T8 1900 T ‘HE-TH3R' == HI0N

forenfa hedt ?

(A) Heg ol

(B) =ret s

(C) TeE A

(D) TH.Sxg. HH

fafere ufifeerdia Jgfifes weam ffo

NP ED

(B) ot

(C) &7 JATqH

(D) fagAsomeHS

10
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21. The primary catalyst of social | 21. HHISH Hedmo Hod WAHEH SUH
welfare services is ........... . [ TTTT™™T 3T
(A) Panchayats (A) 9==E
(B) Social Welfare Board (B) HHIS %A HED
(C) Voluntary Organisations (C) wIdeT e
(D) Zila Parishad (D) fSeer aftog
22. Who started the Family Planning | 22. 1925 A3 a M whrishar geam
Programme in 1925 ? Ut et ?
(A) Lokmanya Tilak (A) wiha feosh
(B) Sardar Patel (B) ¥R 9
(C) R.G. Karve (C) T e
(D) ML.K. Gandhi (D) WH. e
11 [P.T.O.



23.

24.

According to whom “Research is a
more systematic activity directed
towards discovery and the
development of organised body of

knowledge.”

(A) C.A. Mozer

(B) Bogardus

(C) J.W. Best

(D) P.L. Bhandarkar

Family Planning Programme has
been started at National level since

the year .......
(A) 1952
(B) 1956

(C) 1960

(D) 1949

23.

24.
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HIUTAT A CEINYE € A TH

ZAEYq fohardeal e St Jear=T Iy

U4 9 gufed JMATen Aferer faerfaa

F 2

(A) dHlw. "R
(B) =E®

(C) STy, o

(D) W.TA. WS

T WHER Hed e wrdsd

(A) 1952

(B) 1956

(C) 1960

(D) 1949

12



25. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(b)
(0
(d

(D
(2)

3)
(4)

List I

1951

1956

1991

1953

List II

New Industrial Policy

Industrial Finance Corporation

of India

Industrial Policy Resolution

The Industries Development

and Regulation Act

Codes

@ W (©
@“a O @ O
® @2 @ @
© @ & @
® & @O @

(d
4)
(1)
(2)
(4)
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25. e I Hed gt I Sesan A1 @efta

Hehdiehiqd ard W el

T 1
(a) 1951
(b) 1956
(9 1991
(d) 1953

it 11
(1) & ienfies gRo
(2) 9RA SR fod memes
(3) siEnfirr €Ro oA
(4) STEnfin fasm smfor fE=r SRRt
Hehdich :

@ W O (@

a @O @ B @
B @ & @ @
< @ & @O @
M @& @O @ @

13

[P.T.O.



26.

27.

28.

The first institution of local self-

Government was established in :
(A) 1687
(B) 1887
(C) 1893
(D) 1946

In U.S.A. at present territorially the

largest unit of local government is

(A) City Municipality
(B) Town

(C) County

(D) Special District

An authority to determine and
execute measures within restricted
area inside and smaller than the

whole state is called :
(A) Provincial Government
(B) Regional Government
(C) Local Government

(D) State Government
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96. TR TSI GEAET Ufgel TERN

(A) 1687
(B) 1887
(C) 1893

(D) 1946

27. 9 T FHREHSA (FUET) A

28.

FrifeTehg s T1feh IS HIST W2eh

(A) &L TRTfeTehT
(B) a=A

(C) ==t

(D) faerm e

TSI o Tearde waied o fHuiia

14



29. Aims of E-panchayat as a mission

30.

mode project are :

(1)

Internal computerization of

panchayat process

(2) Enabling panchayat to make

effective use of IT

3)

Enabling people to effective use
of IT

4)

Bring out transparency in

working of the panchayat
Codes

(A) (1), (2) and (3)

(B) (2), (3) and (4)

(C) (1), (2) and (4)

D) (1), (2), (3) and (4)

Which one of the following functions
of Panchayati Raj is not listed in
the 11th schedule of Indian

Constitution ?

(A) Cultural Activities

(B) Solid waste management
(C) Small scale industries

(D) Public distribution system

29. AN TRl Yehed TUA - T

30.
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(al

2RI

(1) J=mad fhaa Idqid GIoTeh enlol

it T ATOEET G

TIR 0]

(2)

Hifgd! IS AT9UEET SO

TIR L0

3)

I hraUfhad TRESIehdl

TOTO}
‘H@H‘I‘Tzﬁ :
(A) (1), (2) @fur (3)

(4)

(B) (2), (3) AU (4)
(C) (1), (2) AT (4)
D) (1), (2), (3) i1 (4)

TR ToToed WeleTieh] hivd Teh

Tl TS S 113 Ed geies
b L

(A) TiEpfas &E
(B) o= HAIEIIA

(C) & &M

(D) HreSies faaeor gomedt

15

[P.T.O.



31.

32.

“Administration is now so vast an

area that a philosophy of
Administration comes close to being
a philosophy of life.” Who said
this ?

(A) Herbert Simon

(B) L.D. White

(C) Vincent Ostrom

(D) Marshall E. Dimock

Market model in public

administration is related with :

(A) Extreme form of decentra

lisation

(B) Market-oriented public

administration

(C) Fiscal policy of Government

(D) Bazaar canteen model

31.

32.
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" TSI & ST Saeh forgd STel <,

SIHos IIMEHATE dwad 8 SaAreA
T R S 3 3R, "' 3/
ST UM ?

(A) ®sid e

(B) TA-El. =hee

(C) fadie sitem

(D) Ui 3. femts

AR IR ‘ST W q’ 19T Seferd

AR

e

(A) 3Tl foreht

Ul HIwY

(B) INR 9du AR

(C) IMEAT™ TSThISTT &

(D) 9N =<9 Yreq

16
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33. Delegation is a transfer of authority | g3 gesfyggoy st s
110) T TR,
(A) planning (A) T=EeE
(B) policy making (B) o faericor
(C) overall control (C) geeamdt frasm
(D) routine work (D) fafrg =e
34. Follet distinguished between which | 34 iR I GEEiaUS] SO dF SaET=
3 types of leadership ? YhRAle ofdl <redd ? =
(1) Leadership of position (1) &= ﬁgc—o[
(2) Leadership of planning (2) I g
(3) Leadership of personality (3) AfKIHEE A
(4) Leadership of functions (4) I Aq
A) (1), (2), (3) (A) (D), (2), (3)
(B) (1), (3), (4) (B) (1), 3), (4)
(C) (2), (3), (4) (C) (2), 3), (4)
D) (1), (2), (4) (D) (1), (2), (4)
35. Which is the distinctive feature of | 35. @i fHae fesmm tlgv—owﬂlf G|
public choice approach ? Hd ?
(A) Institutional (A) TEITHSR
(B) Bureaucratic (B) IehTeTEIcHS
(C) Administrative egoism (C) U 3T8dE
(D) Monocratic administration (D) W’?ﬂ'ﬂ TRMEA
17 [P.T.O.



36.

37.

Who has analysed the leadership in

terms of ‘circular response’ ?

(A) C.I. Barnard

(B) M.P. Follett

(C) J.D. Millet

(D) F.W. Taylor

Assertion (A) and Reason (R) pattern :
Assertion (A) : Scientific manage-
ment neglected the human side of
the organisation.

Reason (R) : It viewed organi-
sation mechanistically codes.
Answer the following by using the
codes given below :

Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but (R)
is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

36.

37.
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AqTte  SeerTHT UfqwEe ' & ST Shivf
fovaifta et ?

(A) a3, e

(B) TH.dl. WHice

(C) S.Eh. fiee

(D) TH.TF. R

faem (A) sfor FRO (A) § &%

I (A) ; ST HEEATIA FEEA=

AE oS galferd el ST

HIUT (R) : YMSY HEEAT9 Heeg
ik gieRM rEdr.

LTSN

@leile dfgd=l IR & I N

ferer -

Hehdiah :

(A) T (A) 9 (R) SR 318 9 (R)
T (A T A TR AR

(B) €t (A) & (R) s{eR 378 g (R)
T (A) T Irg TR AR
(C) (A) SR 7, 90 (R) I 3R
(D) (A) & 3%, T0 (R) s 3R

18
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38. Herbert A. Simon outlines his theory . . .
38, ‘o 1 TAIT Tl T FRAHA ST
in the book ...........
(A) ‘Administrative Behaviour and
Decision-making’ (A) ‘USTEeRE gaq 9 foiagfsen’
(B) ‘Administrative Behaviour in .
(B) ‘USRI HESAdIA  YRIHHIA
Administrative Organisation
EcEl
(C) ‘Decision-making and
Administrative Organisation’ (C) ‘fofwfsran  ofor e
(D) ‘Administrative Behaviour : A gue’
Study of Decision-making
(D) ‘URTERT T : TR T Feediet
Process in Administrative
Organisation BEEEIEREICOIMIC K
39. Hierarchy demands ............ 39. SATRRERTRATFIS SUEEREX
3.
(A) Centralised authority
(A) =g SAfEwR
(B) Clear functions
(B) T2 ™
(C) Decentralised accountability (C) SWETIET faehgiento
(D) Innovative structure (D) Are=rqul =
19 [P.T.O.



40.

41.

42.

The first major exponent of the
traditional or classical theory of

motivation is :

(A) Maslow

(B) Fayol

(C) Taylor

(D) McGregor
Cabinet in USA is a .........
(A) Constitutional

(B) Statutory

(C) Extra-statutory and extra-
constitutional

(D) Semi-constitutional

Line agency is a/an ..........

(A) Functional subdivision

(B) Mathematical subdivision

(C) Filter and funnel in decision-

making

(D) Advisory agency

40.

41.

42.

JAN - 21218/I1—B

(D) HHUR

g TS STARed (FUE.T) Hfee

(A) Hfeenfes

(B) Jefieh

(C) sAfeaentrw a sifefaenfts
(D) sTerEfaETTR
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43. One feature of Weberian model of | 43. Je=a AHWME WEIE Tk AT :
Bureaucracy is :
(A) YehRX
(A) Inititative
(B) weeht
(B) Cooperation
(C) Hrd™
(C) Continuity
(D) Flexibility (D) et
44. While appointing the judge in USA | 44. ¥R Uo7 TRhd (FTHET,) A=
the President has to get consent THULHTHIST TSI =T et
o) T IS
(A) Congress (A) =™
(B) House of Representatives (B) wfafeie
(C) Senate (C) fe
(D) Outgoing judge (D) USHE BV A&
45. Parliamentary commissioner in the | 45. TToeHYA THST T 7 EEZUIL|
UK can investigate cases of : EIE TG TR IE XIS
(A) Departments (A) Taumm=y
(B) Nationalised companies (B) Uasdhd Sy
(C) Local authority (C) wifrer Stfyepr=ar=n
(D) Private companies (D) @A I
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46. Who

47.

defined Development

Administration as ‘an action-

oriented, goal-oriented administra-

tion system’ ?
(A) John D. Montgomery
(B) Albert Waterson
(C) Irving Swerdlow
(D) Edward Weidner
Which five

year plan gave

importance to Industrial Develop-

ment ?

(A) First

(B) Second

(C) Third

(D) Fourth

46.

47.
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‘TR R ® el YauT, At
TR ST 3T, 3T ARG hivf

Hhedl e ?

(A) S 2. AT

(B) 3o dfetd A

(C) H Wl

(D) TEFE aMEST

e ~

EATTUeh! ShivcaT T=asien SSTI=aT Hedl

frenfires faehraren Ae<d v d 3T ?

(A) dfge

(B) &=

(C) fa&=n

(D) <re
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48.

49.

When was the Asian Development

Bank established ?

(A) 19th December, 1966
(B) 19th December, 1967
(C) 19th December, 1968
(D) 19th December, 1969

Which one of the following is not an
example of development administra-

tion in India ?

(A) Panchayati Raj Institutions
(B) Revenue Administration
(C) Urban Administration

(D) Nagar Panchayat

48.

49.
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faS

TR §
el ?
(A) 19 fed=r, 1966

o

FTH Sehdl

TTIAT heg]

(B) 19 fedsr, 1967
(C) 19 feda, 1968
(D) 19 fedT, 1969

TRATIA fIehm T @reiierieh]

I Teh ST AR ?
(A) TaTF TS HE
(B) #Hggl wRmEd

(C) A WeImEA

(D) TR U=

50. It is not a factor of internal [ 50. " ¥ IaReh TH-SATE ¥
coordination : AT
(A) Superior’s ability (A) aRear= &7wa
(B) Subordinate’s skill (B) sAfTedr sired
(C) Singleness of purpose (C) SEFIET Th&Eqdl
(D) Operational freedom (D) IR=ETETE ==
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ROUGH WORK
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